Year 5 Homework, Summer Term Week 3
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632 x ? =6320

What is 4/12 in its lowest form?
What is 3/5 of 45?

Round 7862 to the nearest 10.
1/4 +1/2 =

What is 10% of 690?
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Maths: Speedy Six
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0.019 x ? =19

What is 21/24 in its lowest form?

What is 2/9 of 117?
5/6 +2/8 =

What is 30% of 250?
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What are the name of these shapes?

RO

Comprehension: Complete the comprehension ‘The Labours of Hercules’.
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Spellings

Core Support
educate shout
education yours
compose route
decompose | haunt
composure | sausage
apology because
apologize girl
entrance first
school probably
muscle police
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Homework is due in on 8" May

Optional Maths Extension:

One bonus house point available

Two decimal numbers add together to equal 1

One of the numbers is 0.007

What is the other number?




